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Q1: Which of the following is a characteristic of unit?

() The unit must be universally accepted (b) It must be invariable and well defined
(c) 1t must be of suitable size and easily available  (d) all the above
frafifad o @ &9 0 318 1 faRwar 27

(2) IPTS JraUIHS FU T WHR a1 1 =nfeT |
(b) T U= iR 3=t ave | uRyiiya forar s =nfeu|
(c) T8 IUTE 3HTHR T RS ¥ JuA 8T AT

(d) SR T |

Q2: The dimensional formula of Gravitational constant is

(@) [M'L'T7] (D)[M'L™T?]

(©)IMLT?] (d) MLT?]

To@ RRT® &1 S 9 7

(a) [M'L'T?] (D)[M'L™T?]

(c) [M™LT] (d) MLT?]

Q3: Which of the following pairs has the same dimensions?

(a) Specific Heat and Latent Heat (b) Impulse and Momentum
(c) Surface Tension and Force (d) Moment of Inertia and Torque
fFofoiad § ¥ o9 I S & f9Ae 99+ 72

() fafRry IoAT 3R T IoAT (b) SMTATTIR T

() US T T Tl (d) STSd 3MTYUT 3R Sergoi
Q4: Which of the following are not units of time?

(a) Second (b) Parsec

(c) Year (d) Light year

fafafea o @ o 91 99T &t 9ee T8l &2

(@ be (b)) URID
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Q5: The S.1. unit of Torque is

(a) N-m (b) Kg.m%/s (c) Kg.m/s (d) Kg®.m?/s

AT BT S.1. 3PS © -




(a) N-m (b) Kg.m%/s (c) Kg.m/s (d) Kg®.m?/s
Q6. The slope of velocity-time curve gives

(a) displacement (b) velocity (c) acceleration (d) force
JT-HT TH BT G F1 Gl § 2
(a) faRiTo= (b) AT (c) @RI (d) &I

Q7. A ball is projected with a velocity of 20 m/s vertically. Find the distance travelled in first two
second. (use g = 10m/sec?)

(a) 20m (b) 10m (c) 15 (d) none of these

TS Tig I d9dd U J 20 Hiex/Adhs & 371 9§ HaTUd a1 ST 8 U8 &l Yhs | ad 31 715 gl

1A PITEI (g = 10m/sec’ BT TTRT )

(a) 20m (b) 10m () 15 (d) 399 J P g
Q8.Acceleration is which type of physical quantity

(a) Vector (b) Scalar (c) Tensor (d) None of these

@R ford R 1 Hifdsd IR 7

ORIER (b) ST (c) TR (d) 79 I PIS T
Q0. If the displacement of an object is zero, then what can we say about its distance covered?
(@) It is negative (b) It is must be zero

(c) It cannot be zero (d) It may or may not be zero

g Tt avg o1 fawITo R §, ) 89 ITD! ad Bi 718 g8 & IR B &1 HE Thd 82
(a) T8 FHUMHSD g (b) T8 I ST 31T |

(c) U8 [ TE1 B FhaT § | (d) T8 A &1+l bl & 1 R8T 1 8 Fbale |

Q10.Two cars A and B are moving with velocities of 100 km/hr and 60 km/hr. What is the relative
velocity of car A with respect to car B, if both are moving along same straight line in same direction?
(@40 km/hr (b) 160 km/hr (c) 125 (d) None of these

3IBR A R B 100 foHi/gieT 3R 60 fhei/Eer & 97 ¥ 3F §¢ & &1 afe G 1Y T & gieht
X T U g o= & 9a <81 81 ot HR B &1 Ja-T H R A HT MTUTEH 977 1 8 2

()40 km/hr (b) 160 km/hr (c) 125 (d) 378 ¥ ®Is 8!
Q11.The rate of change of displacement is called-

(a)speed (b) Acceleration (c) velocity (d) None of these
fareuTo % uftadH @t & e 8-

(a) TIFY (b) @RI (c) T (d) 79 A PIS T

Q12. Analogue of mass in rotational motion is
(a) Moment of inertia (b) Torque (c )Angular velocity (d) Angular momentum

guiF 7T § GHM &1 9Aded & -

(a) TS MUl (b) & et () BV AT ( d) Frofig o

Q13.Two bullets are fired simultaneously horizontally and with different speeds from the same place.
Which bullet will hit the ground first?

(@) The slower one (b) The faster one

(c) Both will reach simultaneously (d) Depends on the masses

T 1Y Al T J 3R T & R J -3 TTd &b 1Y < Merdi Il Sirat & | B It
el U8 ST ¥ ehIdie

(a) & 71 @ Tt g8 el (b) T T & Wrep! g5 el

(c) Tl T ATy ggai (d) ST R AR Far g




Q14.Which of the following operations between the two vectors can yield a vector perpendicular to
either of them

(a) addition (b) subtraction

(c) Dot product (Scalar product) (d) Cross product (Vector Product)

31 gfewr AfRkEl @9ex) & o= Fufiead & T feg Jarad & SR gd o afewr i e a8
<1 gfewr IR™ W dead grm?

(@) A (9) gcrd
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Q15. The moment of inertia of a body does not depend upon

(a) the mass of the body (b) the axis of rotation of the body
(c) the distribution of the mass in the body (d) the angular velocity of the body
et o b1 TSyl fbg R MR T T 8 -

(a) I BT ST (b) I & GO T LA

(c) I T SHH BT faaRur (d) I BT PV AT

Q16.The horizontal range of the projectile is maximum when the angle of projection is
(a) 45° (b) 60° (c) 90° (d)None of these
v ot afast Fur ifiidman 8 FHieT AT BT HI0T T BT § 2

(a) 45° (b) 60° (c) 90° OERLREIERR
Q17.Which of the following remains constant for a projectile motion?

(a) kinetic energy (b) momentum

(c) horizontal component of velocity (d) vertical component of velocity
vae Tfa & forg FafifEd & @ &F w1 fRR BT ??

(a) TSt Sl (b) HaT

(c) AT BT & T (d) 3T T FHeafeR gedh

Q18. When a bus suddenly takes a turn, the passengers are thrown outwards because of

(@) Inertia of motion (b) Acceleration of motion  (c) Speed of motion (d)Both (b) and (c)

Oq Pis 9 3T e qidt § ol ar JTex 1 3R &I Tl 9ITd @ 2

(a) Iy I ST (b)TTfa T @R (c) TTfd & AT F BRI (d) 3T (b) 3R (c)
Q19. A person sitting in an open car moving at constant velocity throws a ball vertically up into air.
The ball will fall-

(a) Outside the car (b) In the car ahead of the person

(c) In the car to the side of the person (d) Exactly in the hand which threw it up

TS T 97 ¥ el §s Qo PR H 981 U Afdd T Tig bl gal H SHUR b1 DI 3R Bhl § dl
g &gl I 2

(a) PR & S (b) PR H Afad & 3

(¢ PR H Afad & Ui (d) Tg heh aTct fad o g1y o

Q20. A force of 5 N acts on a body of mass 1 kg. The acceleration of the body is

()5 m/s’ (b) 50 m/s? (c) 0.5 m/s? (d) None of these
5N T §d 1 kg GIHM P IRR R B BT g d TR BT @R T I 2

(a)5 m/s? (b) 50 m/s? (c) 0.5 m/s? (d)3TH ¥ I3 78!

Q21. Which of the following is a self adjusting force?
(a) Static friction (b) Limiting value of static friction (c) kinetic friction  (d) Sliding friction

fFrafafead & @ o9 91 3T F9aSH 99 82



EARffEadn o) o Afde adurga (o) nfaw ador (d) T =T

Q22. When a torque acting on a system is zero, then which of the following should not change?
(a) Linear velocity (b) Angular momentum
(c) Angular displacement (d) Force acting on the body

9 U RIeq R & a1a gasieol = ), o Fafeied & ¥ fovg iR & searg 81 g
ElIRY

(a) AP AT (b) Hofig 3T

(c) DU fa=ImgA (d) T R H B a1

Q23.A hammer of mass 300 g, moving at 40m/s, strikes a nail. The nail stops the hammer in a very
short time of 0.02 s. The force of the nail on the hammer is

(a) 600N (b) 1200N (c) 2000N (d) 2500N

300 g STHA &1 Th gATST, 40m/s BI A I Iad gU, Th Hid U HRIT & 1HId 0.02 s &
95d HH IHT H YIS B A &l § Al gUls W HId & gRT T 74T 9 BRI

(a) 600N (b) 1200N (c) 2000N (d) 2500N

Q24 A bullet of mass 40gm is fired from a gun of mass 8kg with a velocity of 800 m/s, calculate the
recoil velocity of gun

(@) 1m/s (b) -1m/s (c) 2m/s (d) -4m/s

40gm GHHM Bt U TITel BT 8kg TTH B Sga o 800 m/s,d a7 I TN I1dl § <l 9gd & Ul
8- & T DI TTUHT BT

(@) 1m/s (b) -1m/s (c) 2m/s (d) -4m/s

Q25. Force required in accelerating a 3 kg mass at 5 m/s®and a 4 kg mass at 4 m/s?, will be

(a) Zero in both the cases (b) Same in both the cases

(c) greater for 3 kg mass at 5 m/s (d) greater for 4 kg mass at 4 m/s*

3 kg SOTHTT BT 5 m/s? 3R 4 kg GHM BT 4 m/s> TR T S & foIT 3TaRdss S o1 gHTI-
(a) GIFI ATHAT H X 9 g (b) T ATHG! & THE § 8RT

(c) 3 kg GTHM &I 5 m/s* & AT 3% IA BRT  (d) 4 kg GTHM DI 4 m/s*IR3ATIH I gITT

Q26.The centripetal force acting on a body undergoing circular motion is

(a) mv@/r (b) mvr (c) mvPr (d) mw?/r
I I ¥ ToRA ara fis R T aran sifidia a6 1 g 82
(a) mv@/r (b) mvr (c) mv?r (d) mw?/r

Q27.Two objects A and B are moving with same momentum. Mass of object 'B' is greater then mass
of object 'A". Which of the two objects will have higher kinetic energy?

(@) Object A (b) Object B

(c) Both the objects will have same Kinetic Energy (d) Data given is incomplete

3 THE A 3R B IHH T I IfHH § 19%'B' &1 S0HM dRGA' & GoddH I 31 § df g o
Y forg a¥g Bt TIfas Heolf 31fde giite

(a) IXA (b) 9¥gB

(c) T ag3f @ TIfasT Sooll THH Bt (d) feam T et 31eRT B

Q 28. Area under Force-displacement curve represents-

(a) speed (b) Acceleration (c) Impulse (d) Work done
- faRITo 7% & 3faid & e &l 6-

(@) T (b) @RI (c) 3MTaTT () fo&ar o s

Q29. What is the average power required to lift a mass of 100kg to a height of 50m in 50 seconds?
(@) 980 W (b) 98 W (c) 100 W (d) none of these



50 s H100 kg & GEIH DI 50 m Bl ST db IS & (o180 IS 3N e T 82

(a) 980 W (b) 98 W (c) 100 W (d) FTHAD IS Ta!

Q30. Moment of inertia of a thin rod of mass ‘M’ and length ‘L’about an axis perpendicular to rod at
mid point is

@ = (b) 2= (C) 22" (d) None of these

WM@TWLW%W Bitr&r&r%trh‘cr TS 3Tl &1 BT ol S9b Qs & daad
YT geafeg A TRl o |
@ (0)“E ()% (@) TTHIADRE T

2

Q31. Due to application of 5 N force an object moves 10 meter along perpendicular direction of the
force. What amount work is done?

(@307 (b) 157 (c) 20 (d)0J

5N 9@ & HRUI T IXg 9 PI daad o= H 10 m Iadl 8 19 &b gRT fbT 70 1 ) o7amg |
(@) 301J (b) 157 (c) 20 (d)0J

Q32. The work performed on an object does not depend upon

(a) the displacement. (b) the force applied.

(c) the angle between force and displacement (d) initial velocity of the object.
foplt avq W foran o w1 fopw wR AR =16 ovan &-

(a) fa=umo= (b) SR g

(c) faRITTT 3R 97 & &iF &1 BT (d) T BT URIYD o7

Q33. The work done by all the forces (external and internal) on an object equals the change in....
(a) total energy (b)kinetic energy

(c) Potential energy (d)none of these

foplt g W It 9t (@RAeiRaTaR®)d gRT fosar a1 w1 fhg ufiada & sRIeR 8T g 2
(@)FPd Holl (o)t St

CIRIEERE] ()38 q BIS T

Q34. The Centre of mass of a body-

(a)Always lies at the geometrical Centre (b)Always lies inside the body

(c)Always lies outside the body (d)May lie within or outside the body

il 9% BT SqHH -

(a) G SRt b & Fifgd g B (b)EHRIT TG o 3R BT B |
(C)BHRM I P IR BT 8 | (d)a¥g & iR a1 9T6R 81 Wbl §

Q35. The torque of a force F = -3i™ + j™ + 5k” acting at the point r = 7i™ + 3j* + i is

(a) 14in — 38j™ + 16k~ (b) 4i™ + 4j™ + 6KN

(c) -21i™ + 4j™ + 4kn (d) -14in + 38j™ — 16k"

ol foig & URa: 90 F = -3in + j~ + 5k~ BT 1 A0l I1d S| afe 7o o 7 R a1 @
It fRUfy afemr = 7in + 3jn + in B

(a) 14i” — 38}~ + 16K" (b) 47 + 4j" + 6k~

(C) -21in + 4j~ + 4k~ (d) -14i~ + 38~ — 16kA



